|Al, S5, 71?4017} &7 ol 540m* 1 =2f HH|71E st=d 9 &
o] Ag)1 gAe} 7] @olut 5hH 12 ¢, £ H o} 7] @ovt 31 15 o]
A9ty gt BA|9 SRE w72 e, 5 Abgo] s
HH| 7| & g & 1%3&4 Hol|x?

2 ) 39m? ® 42m? @ 49m? ® 54m?

® 28m
S5 ,

84, 512, 7170]7} 1% FF HHI7] S B 5 Qi 0] ol B
22t a, b, ¢ 230 3L,
1
a+b—|—c—540><§ a4+b—+c=60 @)
1
a+c—540><— —<Satc=45 )
b+c=540x - b+c=36 ©

O @l HYSHA b+ 45 =60 , b = 15(m?)

©2 @ Y5 a+ 36 =60, a = 24(m?)

whebA gA 9t SE7L A sk MHEZIE S 4 de =9
HolE 15 + 24 = 39(m?) ]t}




AAF4 y = x + 45 y=x+ 22 yZ dFo 2 outE HojolEal
T molnh T e ue} x & yE 02 SRR £ yol=?
D 10 @ 3 3)6 @ 4 ® 2

y=x+4°1A ydH2 4 xHHS 4
y=x+2°1A yHHZ 2 xHEHL -2

T agjmet x5, y 502 2Rl T3 9 Hol=
1

—><4><4—1><2><2:6
2 2




